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1. 3079% garT a9 e H YFdd fhU 91T HieT-ois 3¢ & MR W 39 faf@d gfien & faw
ITATIC ohar a1 § | afe 3 a9 A fohel o B srerd ufafte & a1 fawmae & HeTar raferd
1T AT T & dil 3Tt 33T 3EIehd &Y STTan|

You have been called for the written test based on the online data furnished by you in the web application, If
you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. RA-T, 80 Tl § ercl FRA-GRETehl & T A & 3R q&T &ir Hafer 02 6 § |
The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

3. IR fadeul afed avdfess YR & gea gl o @ A% v srdfees &7 & @ ghom |

The questions will be objective type with four options out of which only one will be unambiguously correct.

4 TEE e HAT 04 3 g AR TAF e Sk HIAT TH 3 PreT ST |
Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. WAl HIccR A o far q@dl 9y Ffee 31emT INTHINR Secr-giedent & sieef|
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.
6. 3TIHT, SccR-GRETeT & feT 1T JHeTeeil & He[HR, sATell/hrell TATET & dlel Yrse 9T { HITHIR 3cck-

mﬁmmaﬁraﬁﬁmaﬁrmﬂwm%l

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

7. Teh 99T o ToIT 37eieh Sca aTelcd HIelT SITeeT |
Multiple answers for a question will be regarded as wrong answer.
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1.

12,

13.

14.

15.

FR gI¥ Flet H JRd 9ea-giEdent Aot Hig HNTHANR Iea. Iieas W Afdse s «
o Tnfgu|

Question booklet code printed on the top right corner should be written in the OMR answer sheet in the
space provided.

qaﬂ-gmﬁmmwwwﬁﬁl

Enter your Name and Roll Number correctly in the question booklet.

AR Seer-qReaan 7 el wfafSear defl/mrel Tl & sier g 37 § &1 A1 sl Afev|

All entries in the OMR answer sheet should be with blue/black ball point pen only.

gt gfer 7 fAdieter &y 3ufeafd & & 3! gia-feehe uX Tt e T T

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

UISY-TEd, AE 3 @t A FTATY 7L &Y SIreaf|

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not

be allowed inside the written test hall.

e aot 2l T, STHIHR SeaR-afEdE F IR & des Reet 4 O 3 A9 NTAR
m%-gmﬁﬁaﬁ;aﬁaﬁmegﬂqﬁrmwuﬁl

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

G- RT3t 37 I 7@ FHA B

The question booklet can be retained by the candidates.

GQETT & T T & SRIA 3311 T I&T giet Bisat 1 AT g1 &

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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THATT & (Foaciad Halas) - 98 F. 1341 & 1375/ TECHNICIAN B (ELECTRONIC MECHANIC) —
POST NOS. 1341 & 1375

PR TH Ged H 1 ARH UPUI URT ST YAIE E1T &, a U JAdUs H Ydled Sl hr

If 1 micro ampere current is flowing through a conductor, then the number of electrons flowing
through in one second are

(a) 6.28 x 10 (®) 628 x107
() 6.28x10" (d) 6.28x10"

fodher — HsTH qer:3maly dor # yIFT fAggd-3uey ... ol

The electrolyte used in Nickel- Cadmium rechargeable cell is

(a) TG FARIES/Zinc chloride

(b) IR FISSIFATSS FI STelrd [deda/Aqueous solution of potassium hydroxide
(c) Hﬁﬁ 3ifeFaTSS/Mercuric oxide

(d) Tt grsgioratss/Nickel hydroxide

FIRITTE TRESE 87 1 om? 3R TS 4 om ¥, A 200 FIMIF TREFA () B FEHE T
100 9} T T FIeh F1 IR AT FT 82 (uodn x 107 Wb/At-m)

What is the value of inductance of a coil of 100 turns wound on an Iron core of relative
permeability (u,) of 200 if the area of cross section is l1em® and length is 4 cm?
(no=47 x 10”7 Wb/At-m)

(@) 6.28 mH (b) 3.1mH
(c) 4mH (d 8mH

2 pF/10V AT 4 pF/20V 3ETAdR & &Y Feniar &1 Ao & fow sifeedsr grfera affar deean
.. Bl

The maximum safe working voltage for a series combination of two capacitors of rating 2 pF/10V
and 4 uF/20V is

@ 15V () 18V
() 20V (d 10V
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240V, 50Hz ST 3 T 3RTerT aftaer Sofr @ Sier I ¥ 3R 3=10 3H, TIT=20 mH 3R

=20 uF &, afay &1 afomd gfderd JemseT ..., gl
A series RLC circuit is connected to the 240V, 50Hz line. If R=10 ohms, L=20 mH and C= 20 uF,
then the resulting reactance of the circuit is approximately

(a) -152.72 3 H/ohm (b) 165.28 37#F/ohm
(©) 175.72 3H/0hm (d)  -142.72 HeFohm
& TEEha] A AR FA & 2arT gidr ¢/Hysteresis loss in a transformer is caused by

(a) okl oy & 3 FROTHS 3 YR dreea

Induced voltage in the core due to changing magnetic field
(b) fareft sgfee # faavor

Variation in input frequency
(©) aﬁg-aﬂsﬁ@am%w%ﬁmwﬁﬁaﬁﬁ

Energy consumed in reversing the magnetism of iron core
(d) TR URT H 3Tardd=

Fluctuation in load current

32mHa*aTSmHﬁﬁﬁm’aﬁwwmwmmw%aﬂTMvﬁmﬁaﬁ
AT} IR AT WEhed 2 mH &, @ ZIHAIOE ... gl

Two inductors of 32mH and 8mH are placed parallel to each other on a common core and are
connected in series aiding. If the mutual inductance is 2 mH, the coefficient of coupling is

(@) 0.125 (b)  0.049
(© 0.25 (d 0.05

R 7T GRTY ¥ TR =0 W RaT §5 §1 TR g Ay F¥ & e gRe anr gan
T Sarell TAT gl

In the given circuit the switch is closed at time t=0. The time taken for the circuit current to reach
steady state value is

R=2Q L=200mH

ov 0
(a) 0.2 Y=hUS/sec (b) 5 ¥=HUI/sec
(c) 2 WHUS/sec (d) 0.5 @0 sec
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10.

Tl

12.

arg H AT TS 2 x 3 Becey & &l ifcaer Telet @ 0.1 Feliedler & qufada foar
IAT & U & AT o BTl (€,=8.85 x 10"2C*/Nm?)

Two metal plates each of 2 x 3 ¢cm are separated by 0.1 mm with air as dielectric. The value of
capacitance will be (€9=8.85 x 10™"2C*/Nm?)

(a) 5.31pF (b) 53.1pF
(¢} 5.31xF (dy 53.1nF

1uF, 2uF 97 3uF A & di GuiiEl &t o Aoft & 10 v SR dvas & 9) SigT IR g1 e

¥ FoRae 38 MY R
Three capacitors of value 1pF, 2uF and 3uF are connected in series across a 10 V DC supply.

Which of them will have more amount of charge?

(a) 1pF

(b) 2uF

(c) 3uF

(d) Tt Fr AT vk FAA gRMAIL will have same charge

16k x 8 T JUMEN &t & fow fhcer 2k x 8 ROM Il &I TS &9
How many 2k x 8 ROM chips would be required to build a 16k x 8 memory system?

@ 2 (b) 4
() 8 (d 16

R 1w K A0 % e Bt & R @ o e s

Which is the simplified expression for the output corresponding to the given K map?

cD
ABToTo 1[0

Q1@ |1:10

0 10| 110

0|0]J]11{0
(a) UEIAB (b) <EBD
(c) WECD @ TAC
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13.

14.

15.

3G TR TR ARy Aot & Petafla # @ S @1 $RR 3ME JfaH e S 2

Which of the following phasor diagram represents the series LCR circuit at resonance?

Vi
Vi
|
(a) (b) )
Is A
V
VC i R VC
VL V c
© s @ .
Vg s
Ve Vi

U TFAHER B UEEE § gfRadE B EUd 12 B IVEAE $3e S0V rms,50HZH
IS T o Sar g1 ey gfadaes aeedr ... grafr|

A transformer has a primary to secondary turns ratio of 1:2. 50V rms, 50Hz sine wave is applied at
primary winding. The peak secondary voltage will be

(a) 100V (b) 25V

(c) 1414V (d) 3535V

AR T 77T aRgy # 3ER A diecar dedr &, a v v @ FiF O arr R B

In the circuit shown below if the input voltage increases, which current remains practically
constant?
R

—
—
—

T G|}

lZ I]_

N

(@ I b)) Iz
© L (d) 3ugeFa @Al of the above

6 1341 & 1375



16.

17.

18.

19.

few are aRayr & FCT YR (Iosar) T AT AT F47 67
What is the approximate value of saturation current (Ic sat) in the given circuit?

28V
1K
5V 1K
I
(@) 28 mA (b) 5mA
(c) l14mA (d 23mA

3 Vpp @I 1 kHz H3T a1 YA Y Th 240 kHz, 10Vpp a6 I 3 Aglera faam smm g
ATZAT FAFIF FT 7

A 240 kHz, 10Vpp carrier is amplitude modulated using a 1 kHz sine wave of 3 Vpp. What is the
modulation index?

(@) 3.3 ' b)) 03
(¢) 054 @)  0.60

I3TrH AT Whad AgeleT 3gicd 10 kHz & AR AZee FIohish 0.651 Feareld THIH &
fow wa@ 3ugea WA qHT R Far gein

In an amplitude modulated signal, modulating frequency is 10 kHz and modulation index is 0.6.
What should be the best suited RC time constant for the envelop detector?

(a) 0.52 fAeA®UZ/msec (b)  0.02 AT Us/msec
(c) 0.20 fAE®UZ/msec (d  0.35 fARIEUS/msec

8051 FEATIITFH # TTIs Hehe & F ........ B
The function of ALE signal in 8051 microcontroller is
(a) T &THAT Ferem
To extend the memory capacity
(b) UEH IS TH & faagHbae IGEREWE
To control demultiplexing the address and data bus

(c) STEIRAM d PROM & &1 &g et
To distinguish between external RAM and PROM

(d) AR GNE TR FLAT
To initialize parallel port

7 1341 & 1375



20.

21

22.

23.

x(t) = 5 cos 100mt ZART Uh RAX H¥a AT o W ¢ IUgeT ¥ g9« & fav 3rdferd

e caANIdad &Y T 82

A continuous signal is given by x(t) = 5 cos 100xt. What is the minimum sampling rate required to

avoid aliasing?
(2) 100 =TT i Hehvs/samples/sec (b) 200 e 9f Ahvs/samples/sec

(c) 50T 9idh AhUs/samples/sec (d) 105 9fd @eRUs/samples/sec

ﬁuﬁ@m%%vﬁmﬁf@aﬁﬁmwmmmﬁl

Which of the following can be employed for position sensing?

(a) TEEIFVLDR (b) FREZVRTD
(c) faeraATdl/Potentiometer (d)  EfSegsaEs®/Optocoupler
TN BIEER TAN covvvorereerree Fgid W I &l ¢

Optical fibre communication works on the principle of
(a) 3fcRearT safdstorInterference

(b) T 3iaf¥e Wrada/Total Internal Reflection

(c) Tad=/Diffraction

(d) wer faega wema/Photo Electric Effect

e §uR ¥ fav ffaf@a & @ #ia 39gEd 78 8

Which one of the following is not suitable for broadcast communication?
(a) HEHAGLET G Microwave communication

(b) 39arg HaTY/Satellite Communication

(c) TN FaR/Terrestrial communication

(@) i e FAOptical Fiber Communication
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24.

25.

26.

27.

TF ORET TE ¥ AR 10V @ 3hA dieedl oS ST g1 R TR § 3R-OR dreedl
T &7

A reverse voltage of 10V is applied across a silicon diode. What is the voltage across the depletion

layer?
(a 0V (b) 07V
() 10V d 02V
few v gy & gedt afewr o . &1 ae &1 I FEHar B
Decreasing the gain in the given circuit could be achieved by
Ry
VYAV
200 ko
R
—0O vout
3V

(2) Tl ateedr 1 3T geT Hreducing the amplitude of the input voltage
(b) R¢®T Hed Sl F¥/increasing the value of R¢
() RS HeT ¥l Fincreasing the value of R;

(d) Ry @ gchvremoving Ry

x2 + 7x + 12 SR 9GIG F LA v gl

The zeros of the quadratic polynomials x? + 7x + 12 are
@- -2,-5 b) 3,4
(© 2,5 (@ 3,4

39X FAFIOT ABC, C 9T HHSIT §, dl cos(A + B)&T HA ........ gl
If triangle ABC is right angled at C, then the value of cos(A + B) is

(@ O ® 1
) 172 @ V32
9 1341 & 1375



28. T T T FAT §/What is the output waveform?

29.

30.

3.

32.

1\, . -
2 . )
& /IQEAL_GPAMP
A :
1 mv chut
- 1000 Hz J'
(a) @TS/Sine (b)  E/Square
(c) THsLeil/Triangular (d) 3IREdISawtooth
T 2T ... 2/2’s complement of -7 is
(a) 0111 (b) 1000
(¢) 1111 _ () 1001

3ER 52/4 = 128, A7 GEAT YOI & 3MER AT YIF 52/4 = 12, the base of the number system is

(@ 4 | (b) 5
(© 6 (d 8

frel o Sies IRUY BT FEETAT FA ... F AT & & TR ST FHAT &
Any combinational circuit can be designed using only

(@) U= AT/AND gates (b) 3 AT/OR gates

(c) TFHH AT/XOR gates (d) FARATNOR gates

frw arr A3 & Do aur DIRfGEa WAw §, S ST =9y & 3R YRea g1 S $=0, a9 Y=DO0|

SES=1, a9 Y=D1| U ¢ FAded IRIY ......... gl

In the figure shown, DO and D1 are digital inputs, S is a control input and Y is the output. When
§=0, then Y=D0. When S=1, then Y=D1. The given combinational circuit 1s

DO
; e aiay

Combinational F——»

_..—.‘ . .
D1 Circuit
T :
(@) 2 T3l fasiss/2 input decoder (b) 2 fAa=h ﬁﬂm@ﬁmfz input multiplexer
(c) YuT Arste/Full Adder (d) Teume Gs/Shift Register
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33.

34.

35.

36.

3.

S-RIFAT-Fallq 2T J-K fFea-waia & ST Fraeds HRewdl T8 § 6 ...
The functional difference between an S-R flip flop and J-K flip flop is that

(a) J-K fora-galty, SR fForg-wara & dsf gIK flip flop is faster than SR flip flop

(b) J-K ferg-wrelrT & U qeReieor 9 @/JK flip flop has a feedback path

(©) IK forau-warq et faeit 137 Fer s g/JK flip flop accepts both inputs 1

(d) K foera-tralfa @ aed g2y 1 3agedr w6t 8/JK flip flop does not require external clock

TS A15-12 3R Fed & AU 3ET Sgead Fau-rdiat f T ... gl
Minimum number of ﬂip flops required for a mod-12 ripple counter is

@ 3 ®) 4

() 6 (dy 12

10V Brel e & fav we 10-fae wdr aRads & Raew/fadies & adr sl
Find the resolution of a 10-bit AD converter for an input range of 10V?

(a) 97.7mV (b) 9.77mV
() 0.977mV d) 977mV

F eaae faws F BT § ¥ #i9 v Taw # S & 87

Which among the following act as a switch in switching regulator?
(a) Ufarera/Resistor (b)  W¥&/Inductor
(c) gifaFcy Transistors (d) Te/Relays

R For T grew # Rhae 3R el & 3w e S 8

How many RC stages are used in the RC phase shift oscillator?

(a) Be/Six (b) aTwo
(c) IR/Four (d)  d=/Three
11
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38. mﬂm?%mé@ﬁﬁﬁ,mmmﬁmqﬁﬁHaﬂwmﬁl

39:

40.

41.

Find the unknown resistance value in given circuit, given the bridge is balanced.

() 102Q | (b) 11.7Q
) 105Q @ 115Q

g%ﬁmﬁvﬁwﬁ%?#rﬁ%mm%l

Identify the devicé whose symbol is given below

[+

=
E
(a) TUAYITA CITEE/npn transistor (b)  droadr ZifSEeY/pnp transistor
(c) THNTATHSE/MOSFET (d) 3ITESERVIGBT
TF TEARR # edd R, R GRT oo gl
In an SCR, the latching current is ————— the holding current
(@) @& FHH/Aower than (b)  A3f/higher than
(c) o HH/same as (d) & A9ddmegative of

BrAfaf@a & i g2 a0 §/Which of the following is decade counter?

(a) 3TSHT 7493/1C 7493 (b)  3SHT 7490/IC 7490
(c) 3mSH 7491/IC 7491 (d)  3TSEY 7492/C 7492

12
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42. HET o 5 Ut 4-fae FHF s/FHE B GEUma 9o IRE F ReAa g e 98 3w ¥
g frar STar T Had 1100 1 H3RARET &1 G g8 T F a5 4-fe det
BRI (Faw aifgey 1 fae gg#)

Assume that a 4-bit serial in/serial out shift register is initially clear.Bits are shifted in from left. We
wish to store the nibble 1100. What will be the 4-bit pattern after the second clock pulse? (Right-

most bit first)
(a) 1100 (b) 0011
(c) 1111 (d) 0000

43. 3 Q 9fa0YF ¥ wared RT &7 9o &9MU/Find the current through 3 Q resistor

20 =

() 6A b 2A
) 267A @ 3A

44, 24 Q SaUUF F IR-YREleedr 1 9dl deMe/Find the voltage across 24 Q resistor

2{1

N

(@ 8V b 9V
() 1V @ 6V

A 13 1341 & 1375



45.

46.

47.

48.

Tsh ?x"I'FCFLIJ'JSIT &1 grafis i@ﬂﬂ/Primary winding of a transformer
(a) EAUT et dleed 3o grall

is always a low voltage winding
(b) EAUT 3T dlecdl i’tSHo‘I graf

is always a high voltage winding
(c) fo¥o=T ar 3% aleeaT H5ei g1 Hehcll &

can be either low voltage winding or high voltage winding
(d) EfaciRres Frsclel hr TYGT G JTER AT H B el g1af

always has higher number of turns compared to secondary winding

T 12V S # 48 AHYT AT 91T 81 3PN 38 IET 2.0 A FT A w1 g, o G-3RI

A A Tgar del frael & a& Feretl?

A 12 V battery is rated at 48 AH. If it must deliver an average of 2.0 A, how long will the battery
last before it needs recharging

(a) 48 =cl/hrs (b) 4 ucr/hrs
(c) 96=cl/hrs - (d) 24 derhrs

THAM HTRTE &1 855 kHz W FAEARG fhar amar &1 30K [F455 kHz §, af TN GliferT

smafea T &2

An AM receiver is tuned to 855 kHz. If IF is 455 kHz, what is the local oscillator frequency?
(a) 400 kHz (b) 1310kHz

(c) 1500kHz (d) 1520kHz

T gifaeel & AT p=50 &1 Homdr aRwy ¥ 37 1 kQ 9iRius & IHR-UR dleed! 91d 1 dfec
IR V5= 0.7V &1 3HATASS 3cdorh T & T YR 4RI &1 9d1 Jene|

For a transistor, B = 50. Voltage drop across 1K< resistor which is connected in the collector circuit
is 1 Volt and V gg = 0.7V. Find the base current for common emitter connection.

(b) 20pA
(d 200 pA
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49.

50.

51.

52.

T Thedl # 19 37Udlg dlecd! Hhde dlecdl & HHART BIdT &, d 39aTg YRT, 39416 dlecdl A

<

In an FET, when drain voltage equals the pinch-off voltage, then drain current

increase in drain voltage.

(a) Hcdl/decreases

(b) sgdlincreases

(c) TR Wcll/remains constant

(d) 39T # ¥ 1§ o Fgi/none of the above

fer v oYy & v -1 v [aeh atecar & v [T areear &1 gar @]

For the circuit shown, find the output voltage for an input voltage of —1 V.

1 k0
AAN _
‘_ A |
@) -11V (b) +11V
) -10V @ +10V
12,18 3R 24 T FAgedd FATIIAF .ooovevnenne. &/HCF of 12, 18 and 24 is
(a 24 (b)) 12
(c) 6 @ 2
x=-1F% AT x3 - 2x2 —x + 1 STIAF FT AT .......... gl
The value of the expression x3 — 2x? — x + 1 for x = —11is
(@) 3 (b)) 1
() -1 @ o
15

with the
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54.

2.

il e S I Yatie S FahaT &/The OP-amp can amplify ...
(a) hael THY. Hhd/a.c. signals only

(b) hael SLEY. Hehd/d.c. signals only

(c) aldr vl g et Fhasboth a.c. and d.c. signals

(d) T T LA FhagH Fgineither d.c. nor a.c. signals

A IR BUw 2 A 9T & PRy # Y gae BT §1 39 dc @ seaiie Suer g6 e

RO AT TRATRV/A and B are the inputs of a 2 input gate. Y is its output. Identify the gate whose

truth table is given

A B ¥
0 0 1
0 1 1
1 0 i
1 1 0

(@) TUS/AND

(b) 3R/OR

(c) SIR/NOR

(d) 3TFa & A FI$ AE/None of the above

10 kHz WX 3a1e YT 3T 3Ry sfrat-aie ufdera 31k 50 30 7 1 v wfaes 6
v Aol aRYY #TQ @E[OTAT FReF)FAT &2

What is the Q (Quality factor) of a series circuit that resonates at 10 kHz, has equal reactance of
5 kilo-ohms each, and a resistor value of 50 ohms?

(a) 400 (b) 50
(c) 100 d 150

16 1341 & 1375



56.

57

58.

99.

mmqﬁﬁ%mﬁfﬁ?ﬂmkmﬁmﬁmﬁmm%ﬁammﬁ

When parallel resistors are of three different values, which has the greatest power loss?
(a) TN FA YTaTer #/The smallest resistance

(b) T 31f8e YR #/The largest resistance

(c) et & gaT ufed ard giem o/ They have the same power loss

(d) dreear 3R wfoRIer A1 $ ST 8/ Voltage and resistance values are needed

w%%wﬂﬁw%%m-m%%aﬁm@mﬁw....%W%:

The peak inverse voltage (PIV) across a non-conducting diode in a bridge rectifier equals
approximately:

(a) TR gfachae dtecar &l 3muvhalf the peak secondary voltage

(b) TR efadrae dtecdr § giFtwice the peak secondary voltage

(c) afadrae decar 1 R AlT/the peak value of the secondary voltage

(d) ERATH dteed % RER Al & TR A1/ four times the peak value of the secondary voltage

AT F Q Slave e e & Tad JiFer 82

Which among the following is an incorrect characteristics of an ideal opamp?
(a) 3eic @TANRAR @1 g goie &¥/Infinite CMRR and Slew rate

(b) 3t dlecar dfsw/Infinite voltage gain

(c) 3td d5 &r disr/Infinite bandwidth

(d) o e dreedr 2 §, A 3 e sTwde decd

Infinite output offset voltage when input voltage is zero

W@Mﬁﬁ%ﬂﬁ%ﬁh%ﬁvﬂﬁaﬁﬁﬁmwmﬁmmﬁ

For display of a sine wave in a CRO, what waveform is applied to the horizontal plates?
(a) SAT@H/sinusoidal

(b) @e/square

(c) 3IM-Ecil/saw-tooth

d) 3FT A & g ol AgT/none of the above
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60. U® Hahd & T T FT geoGrer (TRETIT &t areh) IR9r Fr ... g ¥

61.

62.

63.

64.

Circuits that shift the dc level of a signal are called

(a) TRER Fga@/peak detectors (b)  Sud/clampers
(c) @de/clippers (d) Y gRad®/de converters

3AASS 3ol §RUUT & AT rf@eetor #F Wﬁ?lc%ﬁ'ﬂ%‘%‘l@\/ceﬁﬁr

The output characteristics of common emitter configuration shows variation of Vce due to variation

of Ic keeping
(a) Ig /I constant (b)  Ip =Ri%/I; constant

(¢) Vi 2RIF/ V4, constant (d)  Vgp BRI/ Vp; constant

T HI-$ GEIUT HA3cHoim RIS F7...... & T 3u=er fFar smar #

In a C-E configuration, an emitter resistor is used for-

(a) FURIIFIUT/Stabilization (b) I "k 39TYac signal bypass
(c) |IEr sH/collector bias (d) 3TIa wfethigher gain

S Uk TN IfFT A GRE U A gl & A e $iR T 3wt gyar &

- How many storage locations are available when a memory device has twelve address lines?

(a) 144 ) 512
() 2048 (d 4096

11001001, (5@ &I 2o & aRafdd FfSrwConvert 11001001, (binary) to decimal.

(@ 201 (b) 2001
() 20 d) 210
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65.

66.

B7.

68.

98 &H Iod &Y a7 de IRER..... §/The logic family with the lowest power dissipation is

(a) ERTA/TTL (b) Swe/DTL
(c) TwATA/CMOS (d) SHiwa/ECL

T Aol gfaRIesr & 9 30 V S@AT AT &, aF 60 pA & Yaig gidr gl 3R

R, =47 kQ, dUTR; = 56 kQ, A R,HT A = g?

R] =42 kQ,

When 30 V is applied to four series resistors, 60 pA flows. If R; = 42 kQ, R, = 47 kQ, and

R3 = 56 kQ, what is the value of R,?

(a) 35kQ (b)  3.55kQ
) 355kQ d  500kQ

& B 997 & HuEYE gatE &, giforeed] @ 3ide & AigT IW S R ST gl

In a class B push-pull amplifier, the transistors are biased slightly above cutoff
(a) FHAUT fAETOT ¥ g7 & [AWto avoid crossover distortion

(b) 3TETEIRUT 3T G&TAT UTed i & felW/to get unusually high efficiency

(c) FUTIcHE YeAfeiaer Sietel shiet & faw/to provide negative feedback

(d) o= Aae wiaerr = & fa/to get a low input impedance

@ SR aRoed ¥ F$ aforerd e g i ..
There are no transients in pure resistive circuits because they
(a) 9 3oa wfae fe@rd g/offer high resistance

(b) & 3N AT I ITeled FLA o/obey Ohm's law

(c) 313 931 ST 7€ glaY g/have no stored energy

(d) YR 99 §/are linear circuits

19
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69,

70.

Tl

72.

mm%mﬁmﬁ@ammmﬁﬁ%ﬁammﬁﬁmm%l

Which of the following transistor amplifier configuration is used as a buffer for impedance

matching.

(@) AT -3c8aid HEIU/Common—emitter configuration
(b) FAFT -HTYR FEIUT/Common-base configuration

(c) WHT -FAE! FEIUT/Common—collector configuration

(d) 39ed # & 15 A€ /None of the above

U TAHIOT W - - 8T /An instrumentation amplifier has a high
(a) Tovefa wfdsmemoutput impedance

(b) et AfFd/power gain

(c) HITAINIR/CMRR

(d) "vaTg deecasupply voltage

TAEST dodl 1 laed) yeaiRa e Frer ... &/Typical expected life time of LED lights is
(@) 750 &to 2000 E&/hrs aF

(b) 6000 Ao 10,000 S/hrs

(c) 20,000 A1to 50,000 ©/hrs TF

(d) 10,00,000 g¢ & FAEI/More than10,00,000 hrs

<olfastsr Aser @ 5 @lerd ... /The band width of a Television channel is

(@ 5MHz (b) 7MHz
(c) 9MHz (d 6MHz
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73.

74.

5.

76.

1 fAeHTeT ey & 1Y 100 HeX &F T ITeleh T YTaIe 900 mQ &1 38T gere 3y 3T &g
T 3 TACHAEY e dlel g@X dTefeh &l YTaRIE fhd=r glm?

A conductor of 100 m length with 1 mm diameter has a resistance of 900 mQ. What will be the
resistance of another conductor of same material with same length and 3 mm diameter?

(a) 300 mQ
(b) 100 mQ
(¢) 2700 mQ

() 3FT # q IS 3 w67None of the above

faega-dahg TIFgA & TFAW YR ... 3R ... & G g g

In electromagnetic spectrum visible light lies in between

(a) UFH-fHIOT AT W-a91A1/ X -rays and UV

(b) 3MaRerd TUT GeAInfrared and microwave

(c) H\&WT GAL -if%'ﬂ’f dT/Microwaves and radio waves
(d) T-dITYT HaFA/UV and infrared

250 V, 1000 &1 s & & A9l i 250 V, 50 Hz WA H&g & Aol & gafsia fova am gl
HCATS A ol STAaTell el AT fhctelr g

Two heaters, rated 1000 Watts, 250 V each are connected in series across a 250 V, 50 Hz ac mains.
What will be the total power drawn from the supply?

(a) 1000 are/Watts (b) 500 are/Watts
(c) 2504are/Watts (d) 2000 are/Watts

I el = A sin ot 3R e2 = B sin (0t-0), dl.............
If el = A sin ot and €2 = B sin (0t-0O), then

(a) OTARTe2 W el U2Tadr g /el lagse2 by ©

(b) el,e2d& AT Fell W &/el is in phase with €2
() © TART el A €2 37 §/e2leadsel by ©

(d) 3TIFIHFAFIEE / None of the above
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78.

79,

80.

SOGhIT THT 8RT Flrms Al 3T ........ 89l FIoT W AT F Fearg: AT @Il

The rms value of a sinusoidal ac current is numerically equal to its value at an angle of ------

degrees
(a) 60 (b)y 30
(c) 45 (d 90

T T 3T HIcT-IRFRCOET 7 IR VUIRT 7 71T gopeAm forar e &, & s smafea

In a simple high pass RC filter, if the value of the capacitor is doubled, the cut off frequency is

(a) 3mefvhalved (b)  gIFdoubled
(c) IR =T/quadrupled (d)  g€lremains the same

U FHAPIOT BT F FOF Aot o & & A ¥ 6ARANT 3F &1 3R Al s b
¥ 2¥feeAe S g, feger & spomsit &1 gar g

The hypotenuse of a right angled triangle is 6 cm more than twice the shortest side. If the third side
is 2 cm less than the hypotenuse, find the side of the triang]e.

(@ 10,24,26 (b) 4,6,8
() 3,4,5 (dy 5,12, 13

qaﬁa?d%ﬁwmmmmaqﬁa%aﬁrmaw@m%mzmmaﬁrq&
T A & AT perseier JaT &1 3ifaw 367t F ke A R o |

A car travels at an average of 40 km/hr in the first two hours and takes totally 5 hours to cover a
distance of 230 km. What was the average speed in the last 3 hours?

(@) 46 e 9fa ge/km/hr (b)  63.3 freiaeT wfa g¢/km/hr
(c) 50 fraaeT wia ge/km/hr (d) 40 frareey ufa ge/km/hr
22 1341 & 1375



